7 rraosr

7, FI2098

5 [Ti098

Cop S om a1 A’:
704 [ o Fo74
M —antg 1 ()
35-48 !
~50mx { 012:1?/ |'i 038 378 = = | 0T0
Tl 5 B e & Y a2
4 q ——]
7/{~5M/%€, 1500 L J0mxd) 8526 6200l )~ 1\
1R GLh 1k, Rl b 77 by 1% Ry - AN
13 Tod\ Cleer| g g520H] Tooo"t) Tomr Ul 4% \{
2 7 7 A I
476] |769 /ﬂt/iﬂgh }
7260 064 T (71064 Tz [T1068 ]
e, 2, Jen 2t Ty 171 2 == |
RN s /i |
| e8| |/ 148 |
(17 Vignlesre2 |
1
qoas LAE% :
~(7258
G100 |
X 1~07758) |
———
R 470
== -
g8
MMpununnHanbiag saneKTPHUECKad CXeMa pagHonpueMHHKoB «Hefpas 51

H «lOnuTeps (mepekinioyaTens guanasoHoB B nonoxenun CB).




